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MATHEMATICS—Algebra—Pass.

TUESDAY, 13th JUNE.—MogrxiNeg, 10 To 12.30.

! All questions to be answered,

M athematical Tables may be obtained from the Superintendent.
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1. Solve the simultaneous equations

2z—by—32— b
3v4-2y-+22=11
bx+3y—bz= 2

[25 marks.]

. 2. A man travelled a journey of 84 miles at a certain speed. If
he had travelled 3 miles per hour faster, he would have done the journey
- in forty minutesless. At what speed did he travel ?

[25 marks.]

3. (a) Find the values of A, B, so that 2z-++1=A(z—1)-+B(z—2)
may be an identity.
(b) Factorise :
(i) (@+1)*=7(=+1)y—3)+12(y—3)*;
(if) 223422 —12¢-+-9,

[30 marks.]

4. (i) Find the sum of the first fifty terms of the arithmetical
progression 3, 5, 7, ...
How many terms of the progression must be taken
g0 that their sum is 840 ?

(ii) In a geometrical progression the sccond term is 20 and the
ecighth term is 45. Find the fifth term.

[30 marks.]
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| ‘i I 5. (i) If r=a-+Va?—3, express :u—i-g in terms of @ in simplagy
form
| : | (ii) Prove that logay=log x|-logy.

i Find two numbers such that their sum is 25 and the
| i sum of their logarithms to the base 10 is 2.

[30 marks,]

S;a I'II‘{JV(-) < ﬁc

o L .
6 If § = 5T

3r b5—3x -
5. = a5, 0Xpress z in terms of y.
ay  o—ay

L]

(iven that

1 2 a 2b
It %a—br1  Sh—a—1°Prove 2a—b+-1 +2?’:-—u—1 s

[30 marks]

7. Draw a graph of the function 2°—22—824-7 for values of
from —3 to +3.

Find from your graph, as accurately as you can, the ranges of values
of 2 in that interval for which the function is (i) positive and increasing
(ii) negative and decreasing, (iii) negative and increasing.

[30 marks.]
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